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call-virtual A.foo()

C extends B D extends B
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3. I HEHO| AA & A=

1 :

try { f2; } £3:

catch el { ..

catch e2 { .. try { throw e2 }

catch el { .. }
f2:
try { £3; } |
catch el { .. }
catch e3 { .. }
=
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LOIa

7+l 2t
takePicture()
SMS, Mzt = 2B
getContentResolver().query() getOutputStream().write()
SOIE Algs M
getDeviceID() sendTextMessage()
X EE

getLatitude(), getLongitude()

4. Dalvik gl Al SO

| 9 camera.takePicture(); throw E;
boo(); foo(); foo();

@é network.write(picture);

move,
move/from1l6,

Data Control
Commands Commands

move/lG' move- move Ca"'direCt
wide, move- istype call-virtual
wide/from16, e return
2000] 712 get .throw
Davlik Instructions put Jmpnz
skip
#H= HIO|EZL Shal 210 #o

move-result-object vo move ro rret

iget-object v1, v3, DDayInfo.calcType » get rl, r3 DDayInfo.calcType
if-qu Vl, P01a // +0012 jmpnz ri1#0 001a

iget-object vl1, v3, DDayInfo.calcType get rl1 r3 DDayInfo.calcType
const-string v2, "1" // string@ooll » move r2 “1”

invoke-virtual {v1, v2}, String.equals

call-virtual String.equals {v1,v2}
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